


This Outline study course in Merxian economics

is offered as a help to instructors of study
classes on the first volume of Marx's "Capital”,
It may also prove to be of value to studenis of
gueh classes. The Outline attempts nothing
more than to suggest procedure, to eliminate a
certain amount of preparation and to allow for
elgborations by the instructor in each session
as well as in the study course as a whole. The
Outline has already proved to be of some value
in elasses on Marx's "Capital" arranged by the
Groups of Council Communists in the United
States, and it is hoped that others may also
benefit from it, :
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SE3SION ONE

Before proceeding with Session One the class should be
organized and the following reading assignment given:

Author's Prefaces to the first
and second editions; Editor's
vrefaces to the first English
Translation and to the fourth
German Edition (Kerr Ed.)

The ultimate aim of ilarx in writing "Capital"™ was to

lay bare the economic law of development in mocdern

society. He discerned the dialectical development of
the contradictions in the capitalist system of production and
was able therefore to analyze scientifically the manifold
forms of capital, from its cellform - the value concept, to
its most intricate financial ramifications.

It is known that "Capital" is an application ¢f the dialect-
ical method of thinking to Economy. Marxian dialectical
materialism has four principles:

1. Think concretely, for everything is conorete.

2. BEverything must be studied in its mevement and
development, for everything changes continually.

3 Wherever contradictions appear, it is nccessary
tc sce their unity.

4, We must scok the contradictions in the proceosses
of naturc and socioty, for overything is put into
motion by contradictions.

Nothing is at a standstill. Thore is nothing static in
naturo, society or men. Society has its own laws which chango
congtantly. Bach positive has its ncgativeo; ocach thosis has
its antithosis. Docvolopment takos placc through the nega-
tion of both:

pcsitivcessessanogative
thosiSeecececsssantithesis

This process illustratcs tho nogation of ncgation, out of
which develops somcthing ncw: this is callod the gynthesis,
which incorpcratcs the matcrial facts of thesis and
antithesis, though now in diffecrent form.

The process itself illustratcs the twrnover from gquantity
to guality. '




Thesis: Capital
Antithesis: Wage labor
Synt hesis: Communism

The gquantitative growth of the class struggle brings about the
revolutionary change to the new society where there are no
capitalists and no wage laborers but free ami equal producers.
Communisy thus is the synthesis.

The capitalist clagss claim there is only a quantitative dif-
ference between the rich and poor - "Some people have nmore
money then others." But this quantitative difference implies
also a qualitative difference: the capitalist class is the
exploiter, the workers the exploited. (Explain and illustrate).

Quantitatively, one stone is but a stone, one hundred stones
may comprise a wall and then ten thousand stones may allow the
building of a house. From the quantitative proporticns of a
hundred stones and tem thousand stones may evolve the quas-—

tative aspect of wall and house. Sociologically, a hundred
rebellious men are not & menace tc the capitalist class; a
hundred thousand rebellicus men, on the contrary, may consti-
tute a revolut iongry force.

Marx found the motive power of sociclogical development in
the class contradictions to be the product, manifestation and
the changing activity of the development of the productive
forces.

In laying bare the economic laws governing ocapitalist produc-
tion, Marx's procedure is twofold: first, he isolates in its
order each important feature of the productive process; second,
he retraces his steps; that is, his analysis of the iseolates,
weav ing into his pattern all minor yet essential factors and
develops in this way a "complete picture" of the capitalist
system of production. "From the conerete to the abstract to
an understanding of the concrete.”

A thorough understandinz of the real nature of capital is ar-
‘rived at only by a scientific analysis of capitalism. How-
ever, this is not an easy task, for many factors; important
and uninmportant, obscure the value-form of human labor in cap-
italist produetion. Only & knowledge of the inner laws that
determine the present social system's development will enable
us to see through the smoke screen of capitalist ideology.

Reading Assignment: Chapter I, "Capital™ (pp 41 to 55).

Literature Suggestions: "The Scientific Method of Thinking -
An Introduction to Dialectical Mater-
ielism." By Edward Conze (Chaprman and
H&ll, Ltde. Lﬁnéon, We Co 2, 1935)-
"Anti-Duhringz™ by Frederick Engels,
(Chas. Kerr & Co. Chigago 1935),
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Recapitulste with a short talk proceedings of Sesaion Ons.

"The wealth of those societies in which the capitalist mode of
production prevails presents itself as an immense accumulation
of commodities, its unit being a single commodity. Owr inves-
tigation must therefore begin with the analysis of a commodity.
(Fo ‘ll)

n

Ylhat is a commodity?

"A commodity is, in the first place, an object outside us, a
thing that by its properties satisfies human wants of some

sort or another., The nature of such wants, whether, for in-
stance, they spring from the stomach or from fancy, makes no
difference, Neither are we here concerned to know how the
object gatisfies these wants, whether directly as means of sub-
gistence, or indirectly as means of production. Every useful
thing, as iron, raper, etc. may be looked at from the two
points of view of guality and quantity." (pp 41-42).

At the same time, every useful thing contains both use palue
and exchange value.

"Use values become & reality only by use or consumption: they
also constitute the substance of all wealth, whatever may be
the social form of that wealth, In the form of society we are
sbout to consider they are, 1ln addition, the meterial deposi-
tories of exchange value."

:xchange value, at first sight, presents itself as a gquanti-

ve relation, as the proportion in whi ch values of one sort
are exchanged for those of another sort, a relation constantly
changing with time snd placs." (pp 42-A1)

Ag use values commodities differ in quality; as exchange
values commodities differ in quantity.

One hundred pairs of shoes mey be exchanged for an automoblle.
No matter what may be the use value of a commodity, it can be

exchanged with another commodity. The quantitative relations

enable the exchange.

There are use values that have no exchenge value, such as air,
virgin soill, ocean wntcr, ctec, but there exist no exchange
values that do not have use value. However, as soon as huma
labor is arrplied to air, the forests, ocean water, thess also
become exchange values.

Commodities were in existence before capitalist gociety. But
Z



enly after the cirsulatier ef cemmodities had attained & certéin
degrea of develasment in sccisty oould real capitalist production
develop.

Articles in the Indizn village were not exchanged on a capital-
ist bagis bscause they were not produced for the market. What-
ever surplus the netives had in their community they exchanged.
This method of exchange, barter, was the starting point of cap-
italist develcpment.

Commodity preduction - the capitalist mode of production - is

for exchange, for sale, for the market. Its representatives do
not aim to produce the products for their personal use but rather
to realize their value in the excharge. (Illustrate).

Exchange vaelues imply a quantitative relation, suck as:

Cne ton ef coal for 12 pounds of tea.

- This exchange implies equality, yet this equality cannot be ex-
plained by the bodily substance of coal or tea. As gse values,
cozl and tea are unlike, but as exchange values they are alike.

"The velid exchange value of a given commodity expresses some-
thing equal. Exchange velue, generally, is only the mode of
expression, the phenomenal form of something centained in it,
yet distinguishable frem it." (o 43).

Assume that one ton of coal equals 12 pounds of tea.

"What dees this equation tell us? It tells us that in two
different things there exists in eyudl guentities something
cexmon te both., The two things must therefore be equal to a
third which in itself is neither the one nor the other. Eeach
of them, so far ss it is exchange value, must therefore be re-
ducible to this third." (p.43).

This third common "something™ has ncthing to do with the
natural property of commodities.

The exchange of commodities is evidently an act characterized
by a total abstraction from use value.

"Tf we leave out of consideratien the use value of commodities
then they have only one commor property left: that of being
pronducts of labor."”

If we mRke abstractions from their use value we see in the pro-
ducts of labor no longer material things, such as a house, tatble,
beok, eto,, but only the thing that is common te all: human
laber in the abstract. ""“‘

It is 1labor in gzeneral, regardless of its special form of ex-
perditure that is the substance &f exchange value.
v
o
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A quantitative relation exprcsess the faet thet equal quan-

tities of labor sre embodied in 23 we assumed above =~ Qne
ton of coal and 12 1lbs, of tea. As the quantity of labor is - .
meagsured by its time ~ expenditure, we assume the following
equation:

1l ton co8&l +.ceee¢ 5 hours
12 1lbs. tea +e.s.. D hours

If labor time is to serve as measurement, then it must have as
its basis the labor time which in general is required for the
rroduction of a given commodity.

The labor time of an individual counts as exchange value only
In so far ag it is the labor time necessary in soclety., The

labor time of all individuals compited gives tThe averagse, or,
as Marx calls 1it, the socially necessary labor time.

"The introduction of rower looms in England probably reduced by
one-half the lakbor required Yo weave a given quantity of yeen
into cloth. The hand-loom weavers, as 8 matter of fact, con=-
tinued to require the same time as befors, but the value of
their product fell to less than one-helf of its former value."

(p.48).

Therefore: Commodities in which equal quantities of labor are
embodied, or which can be produced during the ssme time, have
the same value,

But from the point of use value the product must be socially
necessary, too; otherwise it could not be exchanged (e: g. hats
out of style, etc.).

As valuss, commodities are only definite masses of congealed
labor time.

The value of a commodity remains constant if thé labor tinme rc=-
qxired for its production also remains constant, but the latter
chenges with every variation in the productivity of labor.

Example: 1 ton of 208l ..vceeveees D hours (constant)
12 1b8. Of £6& 4 s v sewews £ HOUD

In this case the equation would be:

I Lon Of. 6081 ::sseesee O Dours
60 1lbs of t€a «¢ecaoeeeas D hours

The twofold character of the labor embodied in commodities.

"At first sight a commodity presented itself to us as a complex
of two things -~ use value snd exchange value., Later on we saw
also that labor, too, possesses the same twofold nature."
(p.48). |

.

Let us assume two commoditiss, 1 coat and 10 yamBs of linen.

Assume that the coat has twice as much valus as the linen:
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linen squals 1 value
coat " 2 values

Because coat and liren are two qualitetively different use
values, they theref we represent two different kinds eof labor,

ramely, tailoring ard weaving.

Were these two commodities nbt gqualitatively different, not
produced by labor of different quality, they could not stand to
each other in the relation of commodities. (Coats are nect ex-
changed for coats).

Cne use vealue is not exchanged for another of the 8same kinde.

®"Division of labar is & necessery condition for the production
of commodities, but it does not follow conversely that the pro-
duotion of commodities is & necessary condition for the divi-
sion of labor. In the primitive Indian village there is

gsocial division of labor without production of commodities.
++»0nly such products can become commodities in regard to each
other, as result from different kinds of labor, each kind being
carried on independently and for the account of private
individuals. "

A commodity is a combination of two elements, matter and labor.
"Labor is the father and earth is the mother." (Wm. Petty).

If one coat represents one day of labor, then two coats repre-‘
sent two days of labor. With the development of the produc-
tivity of labor we might produce two coats in one day.

"An increase in the quantity of use values
is an increase of material wealth."

ﬁNerertheless, an inorease quantity of material may correspond
to a simultaneous fall in the magnitude of its values This an-
tagonistic movement has its origin in the twofold character of

labor.m
SUMMARY
Every commodity has a twofold character:
Use Value - Exchange value

The natural form - The form it has in capitalism.

The value can only menifest itself in the social relation of
comncdities: that is, commodity to commodity.

Reading assignment: PP. 56 to 96.
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The form of value or exchange valus.

We have seen that a commodity's value is embodied in the
commndity itself. Under capitelism this value is expressed in
the money form.

@ must, therefore, trace the genesis of the money form.
Following Marx's method we deal firxzt with
A) The Elementary or Accidental form of valuse:

20 yards of linen equal L coat, or
20 yards of linen are worth 1 coat.

"The whole mystery of the form of value lies hidden in this
elementary form. Its analysis is our real difficulty." p. 56

The two poles: Relative form and Equivalent form.

It 1s not possible to express the valus of linen in linen. 20
yards of linen egqael 20 yards of linen is no expression of value.
The value can only be expressed in relation to some other com=-
modity, e. g. 20 yards of linen equal 1 coat.

Here the value of the linen is crystallized in the coat.
The coat becomes the eqiivalent to measure the valuec.

In this formula we express the valus of the 20 yards of linen
but we cannot express that of the coat. The equation, however,
implies that the same guantity of value substance 1is embodied
in both, namely labor time.

"Phe body of a commodity that serves as the equivalent figures

as the materialization of humen labor in the abstract and 1s at
the sams time the product of some specifically useful concrete

labor. This concrete labor, therefore, becomes the medium for

expressing abstrect human labor." p. 67

Relative form: 20 yards of linen ~ 1l coat
Equivalent form: L coat - 20 yards of linen.

The elementary form of value is the earliest form under which
a labor mroduct arpears as a commodity.

.B) The Total or Expanded (Extended) form of value:
' — I coat
or 1C lbs, tea
or 40 lbs, coffce
20 yards of 1linen or 1 quarter of corn
or L ton of coal
or 2 ounces 5 gold
etc.




Hers the comparison of the liien's value is extended. Instead

of @ single equivelent, as in the elementary form of value, we
now have a heterogeqc~un mags of différent equivelent The ex=-
tended expression of value is only the multitude of si“gle or

elementary expressions.

1 "

The next higher form of value is

C) The general form of value:

1 coat
10 lbs. tea

40 lbs. coffee

1l quarter of corn each = 20 yards of linen
1 ton of coal

2 ounces of gold

etec.

Both the earlier forms of value, the elementary and the extended
are unfit to do more than merely present a commodity's value as
being distinct from that commodity's use value.

In the general form of value, the valuss of all commodities not
only appear as qualitatively equalj; they also appéear as compar-
able magnitudes.

In our example one single commodity (the 20 yards of linen)
that is excluded from the rest, becomes now the universal
equivalent.

The universal equivalent form is & form of value in gensral and
can be assumed by any commodity.

"The particular commodity, with whose bodilly form the equiva-
lent 1is thus socially identified now becomes the money
commodity, or serves as money." (p.80)

If gold replaces tha linen, we get

D) The money form of value:

20 yards of linen

1l coat
10 lbs. tea

40 1lbs, coffsee each -~ 2 ounces of gold
1 gquarter of corn

1 ton of coal

ete,

Gold has assumed the funetion of the "universal equivalent." It

is now money and embodies, like all other commodities, crystal-
lized labor. To produce 2 ounces of gold requires heru in our
assumption as much labor time as the production of 20 yards of
linen,

The simple commodity equivalent form 1s therefore the germ
of the money equivalent form.

-8 -
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The Fetishism of Coumndities.

"y fetish is a meterial objiect, supposcd o possess powers cap-
able of bringing t» successful 1ssue the designs of the owner."
(Wehster's Dictionary).

"hy does Marx speak of the fetishism of commodities?

Regarded as a use value there is nothing mystical about a com=-
modity; it is plainly the joint product of labor and nature.

Neithey does the mystery come from either of the two factors of

the commodity's value - qualitative and gquantitative labor.

The mystery lies in the commodity's condition of being a com-
rplex of use value and value.

First, the equelity of one kind of labor with another is not
expressed as such equality, it is expressed only as another kind
of equality.

Second, thec quantity of embodied labor time is not expressed as
such gquantity, it 1s expressed only as another guantity.

"The products of labor becomc commodities because the relation
of the individual labors of the producers to thc sum total of
their labor is presonted to them as a social relation, existe
ing not between themseclves but between the products of their
labor." (p. 83).

"It is only by being exchanged that the products of labor
acquire, as values, onc uniform socisl status, distinct from
their varied forms of existonce as objects of utillity, This
division of a product into & useful thing and a value becomes
practically important only when exchange has acquired such an
sxtension that ugeful articles are produced for the purpose of
being exchanged, and thoir character as value has thereforc to
be taken into acoount, beforehand, during production.” (p, 84).

The fetish character of commodities disappears immediately when
we consider wealth production which is not the production of
commoditics, ' '

Robinson Crusoe k¥new nothing of value, He recognized useful
articles only, To him the means of production were merely in-
struments of labor,

The same basic laws will be velid in the Communist Soclety.

Read carefully Section 4, pp 8 to 96. Literature: W, H,
Ermett's "The Marxian Economic Handbook" pp, 78 to 903 ""hat
Communism Really Is" Published by International Council
Corrcspondcnaoe, Instructor to assign two membeors to spoak
bricfly on (1) The Four Value Forms; (2) The Fetishilsm of
Commoditics, Roading Assignmcnt for Scssion Four pp 96 to 162,

v
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CESSION FOUR

.

The Process of Exchsnge

In the process of exchange there are necessary not only the com-
modities which are to be exchanged but =21so the commodity ovn-
ers.,

Cormodities, therefore, stand to each other in a private property

relation,

To the owner, the commodities posgess no lmmediate use value;
to him they possess only value which he hopes to realize
through exchange,

Commodities are non-use values to their owners, and use valuies
to theilr non-ownsera.

Hence, commodities must be realized as values before they can
become use values, but at the same time they must be use values
because only as such are thoy exchangeable.

For the owner of a commodity exchange is first a simple

. E A 2
private transnaction, second a social transaction of a general
character.

Tb:othe owner of a commodity every other cormodity is, in
relation to his own, a particular equivalent, and consequently
his own commodity is the universal equivalent for all others.
This applies to all commodity owners.

Commodity exchange, however, requires a universal equivalent.
Gold, because of its comparative rarity as well as durability
and metallic substance, was made the universal equivalint: gold
became monev,

Money, or the Circulatlion of Commodities,

"Throughout this work, assume, fo
as the money-zommodity." (p. 106

r the sake of simplicity, gold
)

In this, as also in the following sentence, Marx emphaslzes
onc¢ more that gold ia mercly a commodity.

"Money, like every shher commodity, has to express the magnis
tude of 1ts volwe relatively to othrr commoditiles. Its value
is determined by the labor time required for its production and
is expressecd by the quantity of any other commodity that costs
the same smount of labor time." (p. 106, abridged quotation).,

301d cnables 2ll sorts of commoditics to express and to compare
th:ir values.

R e e
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We already Yknom what determines the velue of gold. How~
gver, money is merely an imagiqery form whose price depends en-
tirely upon the kind of metal that 1s money., It could be either
gold, silver or copper; or all three at the same time as long as
the ratio between them remains stationary.

The desire to avoid fluctuwations in the reotio brought about a
fized "standard of price." This standard of price was adapted
from the pre-existing "standard of weight," for example, two
ounces of gold equal one pound sterling of silver, (The standard
Roman pound developed into the modern English pound sterling).

As measure of value, and as standard of price, money is different
and has different functions.

As measure of value it is labor time converted into gold; as the
standard of price it is a fixed weight of metal.,

As measure of value it converts labor time intc gold; as standard
of price it measures that gold.,

vVariations in the value or price of gold do not affect its func-
tion as a standard of measurement. No matter how the value of
gold varies, the proportion of different quantities of the metal
remain constant.

A change in the value of gold does not interfere with its func-
tion as a measure of value. If the value of gold drops, so does
the value of other commodities because the productivity of labor
does not occur in one field of production only.

When the value of gold (or price of money) remgins constant and
the other commodities rise in their valus, or when the value of
gold drops and the valus of other commodities remain constant,
then we have a rise in the price of commodities, (It is, of
course, assumed here that price is equal to the value and truly
represents 1it).,

Undar their money names commodities lose every trace of their
value relation.

The question ""hat is money?" can briefly be answered thus:

1) Money expresses the valus-price of comnodities,

2) Money is a part of the metal thet acts as the standard of
pricae.

Circulation

""hen once a commodlty has found a resting place where it can
serve as a use value, 1t falls out of tl

that of consumption, But the former svhere (exchange) alone ine
terests us at present. %¢ have, therefore, now to conalder ex~

- 1] =

he sphare of exchange into

—
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change from a formal polat of view to investigate the change of
form or metamorphosis of commodities which effectuates the social
circuletion of matter." {(p. 117) -

We must realize thot commodities (use values) stand opposed to
money (exchange value) but that both, as ¢ ommodities, are units
of use valus and value,

The metamorphosis takes place in the market.

A weaver for example converts his 20 yards of linen into 2
dallars, and then he converts it into a 2-dollar bible.

The linen underwent two spparate conversions, via -
linen =~ 2 dollars - bible

The metamorphosis of the linen is complete. The weaver 'sold in
order to buy."

This process is indicated by the formulea C = M = C
The actual result was--

Commodity for Commodity
or simply C mwwmee= - 0
et us consider the first metamorphosis, or sale,

Commodity ==~ Money

The social division of labor which turns products into
commodities also enforces the conversion of those commoditiss
into money.
The weaver, for example, unabls to £ind a bible owner inter-
ested in exchanging his bible with 20 yards of linen, must sell
nis lincn in order to be abls to buy the bible.

The first phaso of the metamorghosis (the sale) is immediately
1inked with the second phase (the purchase).

Money ~=w Commodity

The woavcr purchases for his 2 dollars the bible,

As seller he exchanged his commodity with gold; as buyer he &x-
changed his gold with a commodity.

At the starting point the commodity (Linen) was not a us¢ value
to the owner, but at the finishing point 1t was.

The metamorphosis is completc.

a D -
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The total of all the Aifferent circuits constitutes the
CIRCULATION OF COMMODITIES.

Here is the -¢ifference between barter (exchange of product with
product) snd the circulotion of corriodities, -
By barter both commodities go out of existence after the trans-
action of exchange.

Ia the money circulation the money always remains in the hand of
gome person.

In the process - Linen = lloney - 3Bible = first the linen steps
out of cireculation and money steps into its place, then the
bible goes out of circulation and again money takes its place.
Marx says: "Circulation sweats money from every pore."

It is, of course, childish to follow: Because every purchase is
o sale and every sale a purchase, that by this process we have
an equilibrium of sales and purchases. No one can gell unless
he has a buyer, but no one is forthwith bound to buy because he
has just sold. He can keep the money a~d can wait to buy as he
pleaces.

TIf the interval in time Dbetween the two complimentary phases of
the complete metamorphosis of a commodity becomes too great,
there is a possibility for & crisis.

Read page 128, 6th line Irom above.

How much money is needed?

Marxz: "The quantity of money functioning as the cir ulation
™ b

medium is equal to the sum of the prices of the commodities di-
vided by the number of moves made by coins of the same denomina-
tion. This law holds geneérally." (p. 135)

f the money is only the reflex of circulation, then it will
row with the rapidity with which commodities exchange their
orms .

hm H
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am is determined, on the one hand, by the
e circulating comodities, and on the
dity with which this process C-li=C goes

as the circulation medi
gum of the prices of th
other hand, by the rapi
on.

The total quentity of money functloning during 2 glven period

Coins and Symbols of Value

There are coins and bullions. The only difference between them
{s the shape. To make coins 1s the husinezg of the state. The

weight of the coins are fixed by laws.
Then In clrculation the colins wesr away. So the function of

gold becomes completely independent of the metallic value of

thet gold. Therefore sven things without value, like paper
notes, can serve as coins. Only ilnsofar as paper moncy rep-
resents gold it is a symbol of valug, and a means of c¢irculation.

Assignment: (1) The process of exchange, (2) The circuletion
of cormmodities., Read pp 163 to 196.
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The Transformation of 1t

The circulation of commodities is ¢©
Money is the first form in which ca
(The money of the merchants im the

The simplest form of circulation of

terting point of capltal.
itel appears.
6th century).

commodities was:

0 wmeme Y wme== C or

Selling in order to buy.

But along side with this form we find another:
Money - Commodity - Money

C =ee=== M

), O,

or the transformation of money into cormoditlies and the change
of commodities back into money.

uying in order to sell.

M —==e C C e=== M
The result is: M ~ec== i (Money Tor Money)

If we buy for %100 two thousand pounds of cotton and sell it
for $110, then we have exchanged $100 Zfor $110.

"It would be stupid to exchange 5100 with $100 in the process
MeC =M.

MeC=M must have as the result the exchenge of 1less money for
more money.

Simple circulation: CeNM-C started with 2 sale and snded with
a purchase.

>

THE CIRCULATION OF MONEY AS C:

END3 WITH A SALE.

PITAL BEGINS WITH A PURCHASE AND

W

In the first case the starting roint and the goal ars
comnodities. In the second, they are monsy.

In the first, the medium of exchangé was noney, in the second
it is commodities. In the first case money is in the end
converted into a commodity, it is apent once snd for all,

In the form M=C-M the buyer lays out money in order that as a

seller he may recaover money. He did not spend his money,
he only advanced it.

& Bl




The leadiag motive I this proéess is more exehange value.

The man who bought two th
r h=d

pounda of eotton for $100 and
gold it for 110 r

m of exchange: M =- C == M!

M' equ als M plus M
130 Lo ! 10

These additional 10 WMarx calls Surplus Valie (3)

Thils movement converts money into capital,

Two thousand pounds of cotton are still two thousand pounds of
cotton, nothing has changed. But the $100 are now $110, or:

M emmmee——e Mz 119

100 10

In the course of thils process the posqesqor of money becomes a
pitalist.

The expansion of value M --- M' is the subjective aim of every
capitalist.,

M osmmme 0§ wwe=e M

is therefore in reality the general formula of capltal as it
appears in the sphere of circulation.

But previously we studied: the equivalent for all commodities
is the labor time socially necessary for itz production,

We did only recognize the exchange of €quivelents.
And wkhere equality exists, There can be no gain,

If we exchange equivalents, then even if one commodity is ex=-
changed above 1ts value, anotker muet be exch Anged Helow TTs
valie, but the value as a whole would remain TFc 5a7a.,

There 1s no surplus value.

Circulation does not bring surplus valu
You cannot produce capltal In the sphere of circulation.

How then 1s it possible t2 buy commodities at their value and
gell them at their value and still create 2 surplus?

This is the vrroblem:

In order to gain surplus valus the capitalist has to find a
commodity that creates more valueée than it possesses.

This commodity is labor. power which is for sale on the market,
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7 the worker brings to the market,
To do so, his labor power not have any use value %o him but.

us
only exchange vnlue.

Labor povier is tne comiwpdilb
m

cr ot

- e e e e e

This is why capltalism needs FREE LABORERS.

What does this mean, Free laborers?

Nature does not vrnduce on the one side owners of commodities or
money and on the other men that possess naothing but their labor
power., This is the result of historical develorment.

The value of labor power is determined, as is the case of every
other commodity, by the labor time necessary for its production
and reprodaction. '

The value of lator power resolves itself into the value of a de-
fiinite quentity of the means of subsistenee, It therefore varies
with the valuwe of these means.

If six hours are necessary to rroduce the necessities for the
rroduction and rerroduction of the worker, then six hours &are
daily necessary for the production of labor power.

If six hours social labor are incorporated in three dollars then
three dollars express the value of one day of labor.,

IODIFICATICN OF THE GENERAL LAW

The consumption of labor power is at one and the same time the
production of commodities and of surplus value.

Sveakers' Assignment: 3 Transformetion of Money into
: 1tal )
Cavpital.

2) Buying and ! Labor Power.

[#2]
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1
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o
o
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Reading Assignment: pps 197 to 2556
Tke Production of

Pl

Surplus Value.
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QUESTICNS

Jrem wnat two
P

a dc we have to loek at valus?
use value and ex 78 1

1he twofold character of vealue is determined by
guantity and cualitye.

waet does quentity represent, and what does cuality rejresent?
Juantity equals excananze value, and guality ecuals use valueg.

»u3t every exchange value have use value?  Yes.
liust every a1se value have exchanze value?  No.

what %ind of value is represented by the bedily material
fcrm of & commodity?  Use.

Wnat kind of value ex . resses a sccial relatien? Exchange.

Canitalist »>recduction is yrcduction for ezchanze value.

Wnat is the .easurement of excnianze value? Labor time.

what kind of labor dc we deal with as the measurement?
Simole, abstract.

o

the develcpment of the Jroductive dower in
”

rel u2. Increases use value and decreases
excnaige value.

The oLrocduction of 5 tons of ccal takes 5 hours oi labor;
tae production of 10 yards of linen takes 1 nour of labor;
Ihen we exclhanze 5 tons of ccel with? (580) yards of linen.

Is: 20 »ards of linen = 20 yards of linen, & value ex-
oressicn? Nc.
Is: 20 yards of linen = 1 coat, 2 value ex)dressicn? Yes.

I3 the coat the ecuivalent form? Yes.

How is tie liner measured? Sy its relative value to the
C’ut.
: 33 ec:res the medium of

? Universal medium.

An equivalent for
exenange, ana is tn
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The universal equivalent 1s? N L

mcney is the? Upniversal ecuivzlent.

“hen we speak c¢f money we spsak of? Geld.

i

-

Dces a chanze in the va 1 16 of gnld affect its functicn as
f)

Ju

a standard of weasureme Nr.
The standard oi zcld 1s? Its Weight.

If one guarter cf wiaeat costs 315, then 15 is cnly the name
for a certain ..... weizht of gold.

If 415 exoresses tiae “value of one ounce O zold, then we eX-
chanze cne cuarter c¢f wheat for «.... CHE _OUNCE of golde«
Because: to prcduce one cunce of :cld %e reecded the same
amcunt of labeor time as fcr tae prod“ctlcn cf cne aquarter

¢t wheat.

Simple circulation is ezsres:ed by the formula: ¢ - M - C

3ellinz in order t0 eesaes DUY.

iicney is here the «.... medium ~f ezchange, to make C-ii-C
ncssible.

Is noarding of monsy necessary? Yes.

icn ist k - C - L
esult is i - C - L',
starting »oint a2nd the geal

=
=

Tne cajitalist form of circulati
3uying in order tc sell. Tae r
In cajritalist circulation the

are: icney. Licney is here the ..... gapital.

The circalation of money as cazital has as a starting point
and goal: «ese. kONDEV.

The money is here not soent, it is only advanced.

100 buy 2000 1bs. of cetton, and this cotton is azain sold

for 11C. Li emmem=m O mmea- L'. The ten dcliars are then
surolus value.

Can therc be a surslus by the exchange ¢f equivalents? Kc.

Can a surplus be zained in the sphere of circulation? No.

In crder tc¢ obtsin surplus vzlue the cajitalist has tc find
& commodity on the market tnat .... gives more value than it
receives.

This comnodity is ..... labor.

S

The value of labcr oower is determined by the reprcduction

; ccste
Does it differ inere wita any cther ccmmodity? No.

If 6 heours of sccial labor are incorperated in 3, and 33
are encugh to jrcduce and “egrcduce thc laber power cf a
worker, then the value cf cne day is expressed DY eeeee3e-

~18-~
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The reading assignmeat for the last week covered 585 pages,
from p. 197 to p. 235, ¢ had two speakers assigned: they
will deal with the subiect discussed in the last aession.

The first speaker will i{llustrate "The Trensformetion of Money
into Capital."! The second spesker will elabarate on "The Buy-
ing and Selling of Labor Power."

Make necessary corrections. Repeat the important points and
then introduce the new chapter,

THE PRODUCTION OF SURPLUS VALUE

The capital ist buys labor power in orddr to use it, and labor
power in use is labor itself,

What the capitalist males the laborer produce is a particular
use value, a specified article, a commodity for the market.
Labor 1s, in the first place, a process in which both men and
nature participate.

Man sets his body in action to appropriate from neture what he
needs for his specific wants.

Human labor is different from labor of other species.

A spider makes a good net, and a bee a good cell, but what
differentiates human ;“bor from this is the fact that a human
being creates his work in his imagination before he erects it in
reality. Nature gives man only thé raw material for his work.
This raw material 1is at the same time the material for the tools
man needs.

Franklin defines man as a tool making animal.

If we want to understand the past, we not only have to ssek for
the bones of the fossils, but tnc past of society can best be
understood by looking at the tools Hhat wers used.

It is not the articles made, it is how thecy are made, and by
what instruments that enables ue to distinguish different
economic periods. They show us at the same time the social
condition under which labor was carried on.

(Illustrate with the pyramids in Egypt, the cabins, the
Empire State Building, etc.).




Products are not only rosults but alsc ess
of labor because one Icllows thne otier.

LThe means of »>rcducticn in tle g3
Raw materials, all the ways

and toolse.

well as which

useless.

machnine as
labor are

L+

211 other thinzs

ential conditicns

asitalist society are:
rd means of traas)ortétion, machines

dc not serve the purpcse

A
of
T4

W

~Laber

Let us

rie buyes
duction.

ill decay:

nas to

Tollow

iron rusts, Wwoc

2ive tiaem liie.

a casitalist in

labor on the market.
Then he consumes tie

d rots avay.

iis transactions.

He alsc ouys tne means of pro-
labor ncwer.

The laborer works under tae control of the casitalist; the
cavsitalist tales care that tne work is done groperly so tnat

tihe wseans of prodaction are not sociled or wasted.

The orcduct belongs to tie capyitalist; not to the real aroducer,
tue werker.

The labor prcces:z is & »Jrccess between t“lzz that the caoitalist
has purcnased and thninzs tnat have beccme nis proverty.

The capitalist sroduces u'e values: shoes, hats, etc.
His aim, hewever, is to produce not only use values, sut com-
modities; not only use value but value; not only value hyut sur-
vlus value. (aemexzber: it === U oo uill)
lTnerefeore, the Jrccess mast be one of creatinz sur.lus value.

we know tuat tue value of eech com:odity is determinecd oy the

vantity of labor expanced on aad naterialized in it, by the
Tﬁ"hir: time necessary,un.er siven social conditicns,for 1ts Hre-
duction. JLnis ruie nold too, under tiae cajitalist mode

of Jroduction for sar
Let us say a ca:italist .aas an end prcdact of 10 Jos. of Tarn.

¢ nave to find out what guentitv of lzbdor is realized 1n it.
5un68¢ we need 10 Ibs. of cotton foi spin-ing the —arn.
Tne casitalist has bought tiese 10 'o0s. of cotton for, say, »1C.
(.e bcuy.at the cotton for its valwe - tie “rice o1 &@h0r recuired
for tiie sroduction of ..is cctton is alsec airesady g% yrezzed.)
Tre wear and tear of ais macaines (s»indlel) will co:t aim for
t.e oroduction orf 10 19s. O varn, 32y, w2

-20~




wxample 10 1hse of cotton «e...vll
156 ci machinery qescececep 2 {

davs labor)

4]

(If 24 nours of labor, or two working days, &are recuired to vro-
duce tne cuantity cf zold resresented by twelve dollars, we
nave to begin nere witn twe Jays labor that are already in-
ccroorated.)

If in one hour 1 £/3 1bs, of cotton can be syun into 1 z/3 1bs.

ct yarn, then 10 lbs. c¢f yarn indicate tne absor tion of siz
"acurs of labor.

10 1bs. of cotton transformed intec 1CG-1bs. of
yarn in 6 heours.

Six hours of labor are also embodied in a jiece of zold at the
value of w3,

3o

Thus, by the spinninz prccess
cottone.

value of 33 is adi’ed to the

lo le- Of CCtton ..'...'.{”})10.
usze of machinery eeseccecacy 2o

6 nours 0i spinning eecessy 3o
10 lbs. of yarn w10 30 hecurs of laber, cr

.

Kc sur»nlus value is created. No money is converted into cajsital.

arice on tae market is 31E and

& 515 is wihat the cajitalist
123 cdavanced.

(Tihere is no surplus value created in circulaticn).

We .ave said we assume tie value oi labor Hower
/8 dey (6 neurs) are emnbodied in that cuantity

Tnerefore, the value of labor pover, and the valu
labor power creates in tihe labor Jrccess are t=e 75 .

and tnis difference of the two values is what the ca italist nad
in view w.en he was pjurchasing the labor power.

2he ce .italist we deal with knows that he does not shut the
factory after the production oi 10 1s. of yarn in & honrs. :ile

4

c
ets t.ie work run for 12 hours.

-21




That means he produces
20 1lbs« of yarn and will sell these 20 1bs. for 30 dollars.

Now let us look at this process:

20 1lbs. of cotton ....$20 48 hours or 2 days labor
use of machxnery — .
12 hours for spinning $ 3 12 hours or 1 day labor

p a7 60 hours of labor or 5 days

he sells it for §30
Surplus seees $ 3

He started out with $27, produced $30

fl e emcmam- N L/

The value he has now is 1/9 larger than the advanced value.
Money has been converted into capital.

Equivalent has been exchanzed for equivalent.

The capitalist paid for everything he bouznt the full value.

The process of creating surplus value is nothinz else but the
continuation of the oroductlon of value veyond a definite point.

& hours no surplus, 12 hours $3 surlu

Constant and variable capital (Chavnter 8).

Surplus labor creates surplus value (6 nours more).

The V“lueo of the means of production used up in the »nrocess are
preserved, and present themselves as a vart of the newly created
product.

In 20 yards of yarn are presented $4 of spent machinery (wear and
tear

The value of the means of vroduction is transferred to the prcduct

p)

This transfer is brought about

1

by labor. But how?

By tne very act of prcducing new values, ne wreserves their former
valuee.

pach use value in the labor process disavnpears, only to reappear
under 2 new form in a new use value. Coctton is gone, the spindle
is gone, the work is gone, but yarn is there which has all these
thinzs incorporated in itself.

If we apply in this »prccess the Development of the vroductivity of
labor then we havs this result:

-98-
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The longer the tire necessary to spin a glven weight of cotton

into yarn, the greater is the new value added to the material.,

The greater the weight of the Totton spun in a given time, the

greoter 1s the value preserved; by being transferred from it to
the product., T

If, due to some invention, we can spiun in 8ix hours the same
amount of cotton we have spun before in 36 hours, then the pro-
duct of 6 hours labor has increased 6 times 6. Bubt the value 1s
now only 1/6 of its former value.

The product, however, thet is preserved and transferred into the
new product is six times greater.

How is the value of machinery and raw materiel transferred to the
new product?

Some raw material, coel, oil, etc, vanish as use values at once.
Others (tools, machinery, etc.) only partly.

During the working time the machine's use=-value vanishes and by
this its exchange value is slowly but completely transferred to
new products.

If a spinning machine lasts 10 years, its total value is grad=
ually transferrsd to the products during 10 years.

Means of production never transfer more value to the product
than they themselves lose during the labor process by the de-
struction of their own use value.

A machine is worth 21000 and lasts 1000 days, then &1 a day will
be transferred ss value to the product.

The means of production can never add more valué to the product
than they themselves possess indeﬁpendent of the process in
which they assiat.

That part of capital, then, which is represented by the means of
production undergoes no gquantitative alteration of value.

That is why Marx called it the constant part of capital, or
shortly the constant capital (c).

The other part of capital that is represented by labor power
raproduces the equivalent of its own velue and also a suwrplus
value. This part makes cspital bigger, enables the change from
less to more.

That is why Marx called it the variable part of capital, or
briefly, variable capital (v).




The Rate of ourplus Valune. (Chaptu~ 91

Capital "C" is made u) of twc compecnents, cne, the sum of meney
1aid out uaocn tne mezns oi owrcduetion, and the other, the sum

“ - 8 ’
expanded upen laber ower (wages) "'V"

O mmmm- constant capital, V —---- variable canital.
we nave first: C = ¢ =-v
50C = 410-90

Winen thae process cof oroduction is finished we have:

(22
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410 90 90 = 59¢C

I'he original cajite
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The difference is g or surplus.

C = V  mmmmmmmm—m————— ~————- Csc=-vVv =--5
500 590

3
v :

s : 990 expresses the avsolute cuantit; of surplus value 2—-oduced.
Ine relative quantity »Jroduced, or tiue increase Jer cent of the
varicble cajsital, is determined by tine ratic cf tas surslus value
to the variable canital, or is exyrc -ed in tue formula* 8

v

J
a
In our example this ratio is 2C

C

which zives an increass c¢f 100/., or & rate oi surplus of 100/%.

(Remember, the variable art alone creates surslus, sc¢ frcm here
zlcne tiue rate of surplus value can 97e dra=n.)

A worker gets for 6 hours $3 and creates nhis life necessities b
tuzt. Thne 6 hours were necessary to enab:e him o-live. He wculd,
even witinout working for a ca -italist, be forced to work 6 hours

in ordcr Ic make His 1iving. Tnis time '+ will call necsssary
labor. 1In this relation ne woild be of nc valus for the cajitalist.
But durinz the other 6 hours in whica he is zivinz surplus labver,

e is creatinz surplus value. i'his is surlus _labor time.

The essential difference between tie various economic forms cf

scciety, for-instance, vetween a2 socisty based on s lave labor, and
one bascd on wa;e labor, is taat in each oaqg,di_iiz%éfracted from
: S REHEY @ . s facen S

the acstual producer, tie ldb“rer/*da.xqg . hybf

~04-



Thus the rate cf surplus value is determined by the rate ef sur-
plus labor.

: surplus labor
: necessary labor beth e: press the same thing
~ in different ways.

£
v

The rate of surplus value is therefore an exact expression for
the degree of exploitaticn ¢ labor power by capital, or cof the
WOTKer DY the cajitalist.

g ¢ 90 ¢ 100% + Surplus labcr : 6 hours : § 3
v 30 Necessary labor A nours  $9o.

The laborer here works half the day fcr the capitalist, the
cther helf for himself:

mxzmple of production for profit: (p.243)

Spinning mill

16,000 spindles preducing 1C,000 1bs. of yarn weekly.

o

€» waste, consum.tion: 10,6CC lbs. »f cotton weekly.

1,000 spindles ccst 510,000 Taey are gooc for ten years.
sc they cost yearly 1,000, weekly =~---- $20.

Use cf macuin ry weekly S ¥ s e k)
10 600 le. Qf Cottﬁn ooc.ct-ccn.--.bo---0160342

A*\J']t ‘iv‘eei:ly .......l.....‘..‘...l.......‘..;; 6
(JC_‘..]., ‘;CAS’ Oll Ltc., VFGK.IJ ..o.-c.-o....‘.‘i 10
CCI’I tant Cu)lt 1 '\681’;1 .---0.0-03378

waees (le’iable C*_.-lt 1' WG LLIJ ce s s seves s 52 .
CCSt :i "‘I‘CduCul"” -o-c-tn'_-__n_—_l_." 430

- .
The srice for 7ern is¢ 10,CCC 1bs. e s e B2l
C\(_St Of -)rod.'\-‘nc.tiCn > 9 6 &0 = 8 % ® o a8 e 0o s e o 8 0 v 00 450

Su;"DllS ”011.10 ssesecencssecsran 'y 8C

Constant »art of casital cannot create surslus value.
Do we put c « G
v : 52 1 B0 gurplus
152 weekly created value.

The rate of surplus value: 8C : 133»

28

In a2 workiny day of 10 heu s the result is: {rouzhly) ,

nesessary labor: 3 1/2 hours :  surplus lawcr @ 6 1/

hours.

Since tae Jroducticn of surplus velue 1S the chief aim of capital-
list production, 211 wealth must be measured by the cuantity of
cxtracted surplus valuee.
Spraksrs' aszignment for ceaziocan six: 1) Las wroduction of sur-
plus value, 2) Constunt and verisbl: eanital, 3} Thr rate of
sarplus valuc. Rocding cs-ignment:  pp. 255-341.




SUSSION SIV.N

In our last sessicrn (pp.197-255) we dez=lt with the production of
survlus value, constant and variable capital and the rate of sur-
nlus value.

Assiznments were ziven to three spealers.

-l 2

The first speaker will deal with the uroduction of gurdlu

s v
Sur»lus value is nothing but surplus Tabor time. oSy working
than is necessary surplus laber and surplus value is created.

nstant and variable canitzl.
T

The second speaker will speak abcut ¢
¢ 0 0 raw material, tools,

Constant ca.,ital: mez2ns C , .

machinery. Variable ca .ital: wazes. Only variable capital can
create surplus value. <Lhe value of the constant caxital is trans-
ferred to the new »>Jrcaucte.

The last specker will speak about tae rate cf surolus_value.

Tae rate of surnlus value shcws tae rate ¢f exoslcitaticon;

necessary lsbor time and s.ar>lus lzbor time. aAnctior expressicn

ior tie same taing. 9C:9C= 10C. = € hcurs:6 hours = 1C0pw.
Surplas laber time cr sarplus value
flecessary labor or variable cajital.

I'ne working day: 2.206.

Here 2 given quuntity cf time determines the rate of surp»lus value
as well as the value of labor pcwer.
SLACKACARD: Lot us take tirece dirferent workingz 4ays,
€ o X € 3 G S}
R b 3 : C A mmm——— -==C B Bev-ze- o

fhe rate of surylus velus alcne weuld nc

¢t the ::rhing day. If tne rate vus 1CQOfe,
tell us whether the workinz day was 8, 12

(—?'

The working day is a variuble gusntit
out it unaes its limits, ebscl.ate limits.

L w==~=-3C, ther surplus labcr i3 C. V&th:ut 3ar2lus value n:
caritalist prcduction is Jcssiole. I a1l labor time i3 neces-
sary, rno profit is possible.

Ve




The working day has & mevigmp limit, toc. N¢ man can work 24
hours at all times.

Difference ¢f working dayse.

licre time for recreation is required focr better werk, time to
study, etc. That is the reason for shorteninz the wo*klnv
day, not only through the struzzle.

The casitalist bougnt the laborer for the whcle day at hls value.
But wnat is a workinz day? It must be less than the natural day.

riowever, because proifit is the only =iam of ca .italist »recduction,
the canitalist must by all wmeans try tc zet as much surplius
labor cut of the worisr as vessible.

liarx: "Ca
by sucking

-
J

tal is dead labor, that vampire-like, lives only
abor; tne acre it sucks tihe more it lives". p.257.

The capitalist does sc by way of exchange of value with value.
He vays with tae value cof a Jbr;in; day. 3But wiat is a
woerking day?

lizrx reconstructs a leaflet the workers used during a strike in
n:land in 1860 waich said tnat, if tie worker lives 30 years,
tien the value of auis lavor ¢ er would be:

n _om :
365/3C 1095C

il

cf its tctal value.

dut if thae cavyitalist weorks ais laberer to :
would not be: 1 out .
1095C 36560

or only 1/3 of its daily value. 2/3 are 1ol
£ A 3

o - . . J
dere tune caditalist jays Icr cne

Va7
oy

zrx: "In the aistory of canitalist producticn the determinaticn
of vhat is & workinz day presents itself as the resnlt of =z
strugzle, as 2 struz:le vetveen ccllective carital and the
working class."™ p.259.

bit2l has nct invented surplus 120c0T.
lierx: Wunerever a part of scciety »>cs3esses tie monopcly cof the
means of production, the laberer free cor nct free, must add to
the working time necessary for ais cwn maintenance an extra
working time in order to Jrodace tihe :eans ¢f sutsistence for
tne owners of the ueans c¢f orcducticn.™ .259




In the feudal system the serf worked 3 days on his own field
and 3 days on the field of the feudal lorde

In caoritalism this time is not so distinct anymore.

The worker does not work six hours every day for the capitalist,
and six hours for himself, but the swplus labor and the
necessary labor combine with each other.

well by saying, he

e can express the surplus labor just as
seconds for the ca»italist.

works 30 seconds for himself and 30

Sternberg's thecry is: "If there were le3s laborers, eXx-
ploitation would not be pcssible. The CantP]iSt would have to
bid so aigh that nc surplus could Dbe derived." This theory is
unsound.

Privete preperty and .rivate ownership of the means of pro-
uction is"taoe taing that counts™, which makes exploitaticn
pcssible.

The workinz day and the crisi

U

learx: "Crisis durinf «hlog srcducticn is inter:usted and the
factories work "SAHCRT II.E™ for only a part cf thae week,
naturally do not g;f ct tne tendency to extend the wcrking day.
I'ne less business there is, tne more -rofit has there been
mace on tae business done. <Lhe less s»oent in work, tle

to 1Y

T
t1 e

1 Je

more of that time has be turned into surplus labor time .
warx zives tne nistory orf the ex
cnildren in Englisu industry. S

laboring class in snzxland.”

Nignt work: Ccnstant caital, ths means of preduction, considere
from tne standpeint of roduction of surplus velue, only exist

to absorb laber. Lvery working hour brinzs prcfit. Sc the ten-
dency cf carital is tc uave woriers at the machines all the time,

+
Ll 4
24 hours if gcessible.

The canuitalist does not care Ior

t.ue slzve holder did not care for

tae slave was exploited for the markst.

exploitaticn was more _rcfitable to ths ¢
lifetime werk of tne slavee. <Lhe oﬁgi*alist whc werked the Zng-
lish bakers to death, alweys fo:ind other werkers on the market
from Polznd or Germany. Liaey were bern faster tiaan they died.
Capitelism has its cwn law of ocpulation.

Birth contrcl. Bonus for the birt. of the 8ta child, etc.
¥illing of workers, staznaticr of population tirouzh crisis, Aidd
be precticed 2s long as it is rcfitable.




The ciass struxgle was a fizat fer ton 16 hour dey instead of
the 18 hour, and for tue 18 hour instcad of 16 hour day. And
when the workers had the 12 aour day tae caritalist said that
it would be impcssible to male a Hrofit That way. Thnev fought
in the intercst of the humarn race and in the name of good
doing against the siaortening of the working day.

ket Affair.

=

The 8 heour struzzle in the U.S.A., Hayma

~

liarx gives us the aistory of the struggle for the shortening

of the working day. _

The "drench ﬁ‘bruar Revoluticr was necesserv tc bring about the
12 hcur day in <'rance. '

Merx: ™In the United States every indesendent movement of the
workers was paralyzed so lonz as slavery disiigared a part of
the Republic. Labor cannot emanﬂlp“te itself in the whitc skin
where in the .black it is branded.®

]
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Rate

o

nd liass of Surplus Value.

We ncw kncw that the workin
zlue. “s said a vicrker
for himself and six for th
would be 10C%: six hours
labor for the capitalist.

deterzincs the rate of surplus
work (as in our example) 6 hours
witalist. The rate of surplus value
sary laber plus six hours surplus
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If the six hours necsssary labor wsre sxpressed in = guantum of
gold, six = $3, then $3 is tae value of tis daily l1abor Jower of
one worker. By hundred wecrkers it would be $3CC. A factory with
100 workers would daily nced $3C0 variable ca-itel.

The wess cf surplus value, tooc, wcpld thern be $3C0, if we express
it irn gecld.

:" The mass c¢f survnlus value produced is therefcrs equal to the
sarplus value which the working 1ay of one labcrer supnlics, mul-
tiplied by the numbsr cf laborers emplcyed™. ».331.

In our example the and the mass of surplus value is tae samc.
The mess is $30C, th

¢
rate 100%.

Ui
]
m

If the rate of surplus value would amcunt to 5C% only, then the
mass of surplus value, with the same amcunt ¢f laberers, would be
$150 or 100 laberers jroducing instead of six hcurs © 1" three
nours surplus value. If the rate of surplus value is sOOJ the
mess would be 5600, cr th® 100 werkors would have tc work 12
nours surplus labore




If the cajitalist would set »id of 50 woerkers, he would start
out with $156C variable caoital. He could zet the same amount
of surplus by lengtinening the working day.

300 variable capital : 100 workers

507 surplus rate:$15C
180 variable capital : 5C workers

10C% surplus rate:$150

Intensification of work due to the development of machinery.
We will dezl with the oroblem of all these variations when we
take up relative surplus values

k%t present wse must take notice of this tendency:

The rete of surplus value has its limits, as well as the mass
of surplus value.

In the chanter on asccumulation of capital --which is most im-
portant-- we will deal with this difference between the rate
and the mass of prcfit theroughly. Today we will deal with it
cnly brieflye.

2300 veriable casital - 160 workers - 16 hour working day -
rate of sur.lus value 2C0xk

This produces a mass of surplus value of $6CC or 12 x 1C0 working
hourse.

It can never resech $12CC or 24 x 100 werking hours.

v nature always
the compen-
gher rate of

The absolute 1imit of the uverage working day is b
less than 24 nours. This sets an absclute 1limit ¢
sation or the reduction of variable capital by @ h
surplus value.

c
i

Tt is cne of the main contradictions of capital to reduce as much
as possible the number of labcrers employed by it, or its variable
vart, and the tendency to produce as much as pessible surplus
value.

The greater the varizble c¢ re
nf velue and surplus value. If the limit
given, the mess cf value and surplus vali
the mass of labor taat is in motione

r would be the mass
the working day is
11e is only dependent upon

With a given rate of surplus value and & given value ¢f labor

pewer the mess of surplus value prcduced therefore varies ai-
rectly in accordance with the amcunt of the advanced variable

capitel.

e know that the constant psrt dces not create value but only
trensfers its value tc the new rroduct.

=B~ \*~




So there stands 2s a law:

That the mess of value and the surplus value prcduced by dif-
ferent cepitalists, the value of labecr power being given and
its degree of expnloitation being equal, vary directly as the
amounts cf the variable constitute parts of these capitals.

The labor which is set in motion by the total capital of a
society may be regarded as & single ccllective working day.
The number of workers as a million and tie working day
(zverage) of a laborer 10 hours, then the social working day
weuld consist of 10 millicn hcurs.

Here the mass of surplus value can only be increased by in-
crezsing the numver of labcrers. Ihe growth of the populaticn
is here the limit to the prcduction oi surplus value by the
scecial capital.

By tais it follows that not every sum cof money can bde trans-
formed into ce>ital. There is 2 minimum, a certain limit a
mzn must Jcossess, before he can start production for prefit.

The minimum of variable ca»nital is the cost orice of a single
lzaborer, employed for the »rcduction of surplus value.

Tc make a liviny, the capitalist would have to exploit this
lzborer 100%, and then he could cnly live like the labcrer.
if he wculd like to live twice as good as the lzborer, he
must advance twice as much capiteal.

In order tc prevent tine guild masters in the middle ages from
becoming capitalists, tiey were forbpidden to hire more labcrers
which would lave brouzat them more surplus value.

53¢ the possessor of noney or commcdities actually uvecame 2
casitalist in such cases only wihsre the minimum sum advanced

for tiie production greatly extended the meximum of the mildle
AZeSe

He-e the Hegelian Dialectics show azxain that "uantitative :
differences beyond a certain point pass into gualitative changzes™.

The minimum of capital to start with changes with different
stzzes of develcpment.

Scoe spheres of orcduction need sc muicir roney for tie start tiat
ro individual has enouzh to tackle his alones 1This explains the

state suvsidies and the joint gtocikk ccmpzanies.

Reading assignment: Dp. 342-404.

Speakers' assignment: 1) The working day, 2) 53trugzles for the
sacrtening of the working day, 3) Rate and mass cf surplus
value.
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SESSICN ZIGHT

The reading assignment for the last week covered 62 pages (342-404) -

Wie dealt with the workingz day, strugzzles for the shortening of the

working day, and we took up the question of the rate and mass of
surplus value.

Agsignments were given to three speakerss The first speaker will
deal with the working day; the second will tell us something about.
the struggle for the shorter working day, and the third will deal
with the rate and mass of surplus value.

The working day is a variable guantity but it has its absolute
limits.

uestion: #nat are these limits?

Maximum limit: The working day cannot be more than 24 hours.
Minimum limit: The necessary labor time.

Surplus value is nothing but surplus labor time,

Question: Suppose, the necessary labor time remains constant,
waat has the capitalist to do to raise his orofit?

Luestion: #hat could he do during a crisis in relation to the
working day?

wuestion: Why was the class struggle in the upward swing of
caoitalism a fight for the shortening of the surplus labor time?
What was the result of this struggle?

Second speaker: Thc fight for the 12 and 8 hour day.

Guestion: Can the class struggle still center around the issue
of shorter nours?

Third svpeaker: Rate and mass of surplus valuc.

The working day dctermines the rate of surplus value:

A ~cee B = C A ==== B <= C A aeee 3 —=e<C
16 2/3% 50% 100%
Example: 6 6
. A caam== ) R C i
$300 variablc capital -~ $300 Surplus valuc = 100%
$300 variable capital - $150 surplus value = 50%
$300 variable capital -~ $600 surplus value = 200%

-38-




Bgamplc: 300 v =~ 100 work-rs - ratc of surplus 50% = $150
150 v - 50 workors - vatc of surplus 100% =$150 sur=-
plus valuo

Limits:
%00 v - 100 workcrs - ratc of surplus Oi0 = $00 s V
300 v - 100 ! " " " 200% - $600 s V
300 v - 100 " « ® o " 300% = $900 8 V
300 v - 100 " - " o " 400% - B ?

For 400% thcerc would be ncecssary a day of 30 hours which is im=~
possiblce.

If the workecr would work 30 hours thcn he %woald have crcatcd
$1200. ; _

What has to bc donc to gct this amount of moncy?

600 v - 200 workers - ratc of swrplus 200% - %1200 s Vv
1200 v - 400 " - " " " 100% - $1200 s V
2400 v - 800 " 5 N " w 50% - 31200 s v
4800 v =~ 1600 " & n o o 26% - %1200 s Vv
9600 v - 3200 " x 0 n W12 1 - $1200 s V

Give hourly proportion bctwicn nscessary labor and surplus labor.
With a given rate of surplus valuc ard a given value of labor
powcr, thc mass of surplus value produccd thorofore varics dircet-
ly as thc amounts of the advanccd variablc capital vary.

- %200 workers - ratc of surplus 200% - $19200
"

9600 v s v
4800 v =~ 1600 - " " " 100% - $4800 s v
2400 v - 800 " = " " 50% - $1200 s Vv
1200 v - 400 " ~ ® ®m W 25% - $ 300 s v

600 v - 200 " - " . n 123% - $ 75 sV

The mass of valuc and surplus valuc produccd by diffcrent
cavitals --the valuc of lapor power being given and its degroo
of cxploitation bcing cqual-- varics dircctly as thc amounts of
the variablc parts of thosc capitalse.

Not ovcry sum can bc transformod intec capital.

The Minimum: The cost gricc of a sin
as good as the laborcr,cmploying two

z sborcr. To live twice
1 T

15 lé
aborcrs is nccossary.

BExplain why the guild mastcr in the ¥iddle wgcs could not bccome
a capitalist?

The possessor of moncy or commoditics actually turns into a

capitalist in such casces only wherce the minimum sum advanccd for
thu production cxcccds the meXimum of thc Middlc Agcs.
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Hegelian Dialcctics: Chans¢ from guantity to quality.

og
O

Question: Explain joint stock companics, Stats railraods, ctc.

Part IV, Chaptcr XII.

Until now we havc dcalt with absolutc surplus valuc - which mcans
that surplus valuc is detcrmincd by surplus labor only.

That portion of thc working day which mcrcly produccs an cqui-
valcnt, and not the valuc paid by the apltallat for the labor
powcr, is always looked at as thc constant part of capital.

A ====- B - C A meew= B == C 4 ==e= B ==== C

What varics horc is thc surplus labor timecse B ---=-C &

Now lct us assume that we have a given working day of 12 hours.

m1

Tho longth of A ~=c-emocaaaeaa C m
we cannot change anything. The only pos
or incrcasc thc surplus, would bc to meov

given. w¢ assume that
sibility to lcngthen hore
¢ B towards A

The cxtention of the surplus labor timc forecd us to take some
time away from the ncecssary labor timc.

We, thon, have an altoration, not in the longth of the working
day, but in its division into ncccssary and surplus labor timc.

-~
But wc claimcd at first that-the workors arc paid for their value
and so there must bc a drop in the valuc of labor oowey to make
tnis possiblc.

dc will hold to thc droposition that 211 commoditics, including
labor powsr, arc bouzht and sold for their value.

The fall in the valuc of leabor power is omnly possibls when the
samc ncecssitics of lifc which were formorly producsd in 10 hours
could now bc produccd in 9 hours. This is only possiblc with an
inercuss in the productivity of labew. But we have lcarnsd alrcady
tnat thc productivity of labor sower incrsases usc valucs rd
dcecrcascs valucs.

The inercasc in the productivity of labor is an altcration in
tiic labor precess that shortcns the time socially ncecssary for
thc oroduction of cowwsoditicse A given quantity of labor must
producc a grcater cuantity of usc valucs. With that the valuc
drvpo.

Bl




znd soccizl conditions, the mods of preduction, must
productivity of labor can incrcasc

Ths toechnical
be rcvelutionizsd boforc the
of

Marx callecd tihc surplus valuc produccd by prolongation the

working doy: absolutc surplus valuc.

dhftfninv thc ncccssary lzbor

Ths surplus valuc produccd by
through tho dcvclopmont cf thv produotlwlty biarx cz2llod:
surplua valuce.

An inercosc in the productivity of labor in thosc eranches of in-
dustry which supply ncithcr tho noccssitics of 1ifc nor the means
of preduction rcquircd for the production of the nccossitics of
lifc lcaves the valuc of labor powur undisturbcd, such z2s diamonds,
wax flowora, olaying cards, ctee.

The capitalists do not checapen the commoditios consciously by in-
crcasing the productivity of labore.
Marx: (p.347) "It is not our intcntion te
in which thc laws, ¢mincnt in cupitalist preduction, manifest theom-
sclves in the movoments of the individuszl masscs °f capital wheore
they 2ssert themsclves 28 cocrcive 1nws of compctition, s they
cppcar in the mind 2f the capitalist. You could not undorstand
competition bcforc having 2 conccpticon of the inner naoturc of
copitalism. And this inncr law is to bc found without tcking com-

considcr here thc way

pctition into censidcration. Thoy arc alroady ba2scd on the theory
of valuo.." -
But 1ct us take z look nt compctition ~nd find cut what the creation
of rclative surplus v-luc meons in rcl-tion to ccmpstition.
Exomplc: i
1 hour 2f labor - $1 {if
1 day of 12 hours - %12 it
12 hours ¢f 1l-bcr can producc 12 shirts.
The pricc of one shirt is $2, 12 shirts - 324
$6 arc fermcd inte shirts from the constant port of capital
_ (material, cte.) it
Phe rote of cxploitation is 50%. _ |
By sclling 12 shirts the capitalist mokes 2 surplus of 6.
Through somc invention he raiscs the productivity of lrnbor 100%.
1 hour of laber is still $1, 12 hours - $12.
But now 24 shirts 2rc¢ preoduccd instctd of 12.
The pricc of the shirt is still 2.
$12 nrc now transforrcd inte thc shirts from the constant
part of capital.
If he sclls 211 24 shirts ac ans ~ surplus of 24.
At first it took this copitzlist 1 nrur te producce onc shirt.
New it conly t~kos nim 4 hour. If hc is ~bls to s¢ll 211 shirts,
he mnkes $24 instoxd ¢f $6, during onc dny.




But . now hc has to finmd 2 murket for 24 shirts instcad cf for 12.
His wish docs not make the markct largcr to 2bsorb his 24 shirtss
All the othur. xroducers of shirts who hove not applicd the now
invention still »roduce only 12 shirts during the day.

We learncd alrczdy that the real valuc of a commodity is not its
individual valuc but its socizl valuce. The rcal “value is not
mcasurcd by the labtor time that the article in cach case costs
the individual producor, but the labor timc socially required for
its production.

gucstions

If this capitalist could get rid of his 24 shirts at thce "social
price® of $2 cach, hc would scll his shirts over their valus, ,
over their produetion pricc. In this casse, 3/& over thcir valus.

However, in ordcr to get rid of his shirts he has to takc the
market 2way from othors. . But if the possibilities of thc market
arc the same, then in ordcr tc zst rid of 24 shirts, ho must scll
cheaper than thc othcrs. He has to soll ‘the shirty even if he
sclls them ovcr their individuczl valuc; undcr the gocial valuc.
He will sell tho shirts for $1% cachi Then he will get only $36
for his 24 shirts. He still has twicc zs much surplus as befors
($6), but 2t thc same time hc sells the shirts below their value
(socizl valus).

Now, the other czpitelists will be forced to apply the samc method
and in the long run the shirts will again be sold at their social
valus. Therc is an individual motiwe in evsry capitalist to
chcapen his commoditics be increasing the productivity of labor.
And in this process wnich is appliecd to cvery commodity, the value
of l2bor power is dccrcasing with the incrcase in usc valucs.

This increzsed production of surplus valuc arist
] m c e

1
ment of the neccessary lzbor timc and fror
longzation of surplus labor.

A meeccce<B ccmcncmccnccc e w0

Relative surplus valus riscs and drops with the productivity of labc

Marx: "The objcet of 211 development of productivity of 1labor,
within tho limits of capitalist production, is tc shorten that
part of tho workinz day during which the werkmon must lzbor for
his own benefit, 2nd by that very shoertening tc lengthen theo
other part of the day during which he is at liborty to werk
gratis for the capitalist." p.352.

#We have alrecady scon that copitalist production can rsally begin
only whon thurc is 2 possibility to exploit many laborcrs, znd

v

vhen therc is cnough capital on hand to do so.




a greatcr namber of workecrs woiking together in one place, in-

8% sort of a commodity under the master-
nstitutes, historically and logically,
talist production.

uction from the middle ages to capital-
change in gquantity: more money was ncc-

The dcvelopment o d
aborers and the cnlarging of the workshop
n

i
ism was at first onl
egsary to hire mor

g K

The numbsr of workers did not, as we have scen, affect the rate
of surplus value but the mess. But the mass of surplus value
varies with the number of workers employed. If a capitalist
employs one laborer whc may be an cfficient worker, the cap-
italist makes a good profit. Another worker may not be as good
and therofore the capitalist would make less profit on him. But
if many workers aré employed, the question is no longer that of
good or bad workers, but their labor is figured cn the average.
If one worker is more efficient than another, then the average
amount of work they perform is neither good nor bad. If one
worker puts out four shirts during the day and the other worker
produces six, they both produce 1C, or an average of 5-shirts
each.

Cocperation of labor is necessary in canitalist preduction.

Example; also gzive illustration.

A DPigger capitalist can produce mcre eccnomical 1y and cheaper.

Not enly a minimum for variable, but alsc a certain minimum fer

censtant capital is necessary to produce gsuccessfully in a cap-

italistic way. Thig is why the big caritalist can eliminate

his smaller competitor. Later cn we will see that even in
ompetition there are fundamental contradicticns.

Cooperation is conbined with division of labor.

In Chapter XIV, liarx gives a goocd illustration of the develcp~
ment and comsequent results of the division of labor and manu-
fzeture. {Use the stockyards and the Ford Motor Plant as

examples in illustrating the latest results in the division of

labor. In the beginning one wcrker produced the ecmplete pro-
ducte The mcdern worker, on the octher hand, performs only one
operation in the large factories whore mess production is
carricd on).

The result of the labor of the one worker in a large factory is
tho starting point of the laboer of ancther. Since the Collec~
tive laborer has functions both simple and ccmplex, the indivi-
dual laborer requires different cducafion and must therefore

~

1ave different values, or higher and lcver wages.

Division of labor in socicty.




It develops in a factory in the same way as it develops in soc-
iety as a wnhole, bdut here it finds its limits in the private
property relations and can only be freed in a communist society,
The anarchy is siowly venishing, but camct be done away with
completely in capitalist gociety. (A capitalist plamed economy
is not possible). -

Reading assignment: DPages 405-556.

First speaker: Relative surplus value.

Second " Cooperation and division of labor.

Third " Division of laber in manufacture and in
' sccisty.




SESSION NINE

Sesgion Bight, peges 342 to 404 dealt with Relative Surplu
Value, Cooperation and Division of Labor, Division in Manufag-
ture and in Society.

Three spegkers were assigned. The first will speak on the con-
ception of relative surplus value. The second on the coopers-
tion in capitalist production. The third speaker will tell us
something about the division of labor in manufacture and in
-society.

The machine is a means for producing surplus value.

In the beginning cf capitalism, in manufacture, the revoluticn

in the mode of prcduction began with labor-power. Cooperation
and division of labor is only a process cof arrangement of work

and workers.

The revolution in the mede of production in modern industries
has its beginning in the development of the instruments of
labor.

The machine is a mechanism, performing the same operation that
was formerly done by workmen.

Marx describes the dcvelopment of the machine. It has grown out
of the old tocls. A pump was still a pump, but driven by an
engine instecad of by arm-powsr.

The machine devclcps the machine. So came the producticn of .
machines by machines. (World market, mass procduction, from

i
cne process tc ancther).

The productive forces resulting from cooperaticn and &ivision
of labor costs capital nothing. (Question). They are the
netural forces of social labor. The arrargement of production

is an cxamplc.

Machinery, as all the other parts of constant capital, neither
creates nor adds value tc the new prcduct.

So instead of beccming cleaper, thc products of the machine
should ve dcarer, as thesc contain part of the value of the

machino.

Phe machine, though always entering as & whele in the Iabor-
ing process, enters in the valwuc begetting process only
partially. Cn an avcrage, by wear and tear, it never adds
more value than it lcses.




